NAME:

SCORE

BASELINE \




R

EEEEEEREEREERERE

BASELINE 5

10x5=
10x7=
10x8=
10x4=
10x3=
10x9=
10x11 =
10x12=
10x3=
10x1=
10x8=
10x6=
10x7=
10x9=
10x12=
10x11 =
10x2=
10x1=
10x10=
10x9=__

Name:

Date:

10x8=

By 10x5=
Bl 10x3=
Yy 10x4=
B 10x6=
E¥ 10x9=
Bl 10x10=
B 10x7/=
Y 10x2=
E¥ 10x1=
El 20+10=
EA 40+10=
EE¥ 50+10=
EA 90+10=
100+10=
120+10=
EZ /0+10=
EF 60+10=
EE 30+10=
¥ 10+10=

SCORE: \ /60

(5 minute limit)

/

TIME TAKEN (optional)

100+ 10=
110+10=

H EEREEEERREEEE
¢ = o N = O oo ~ o 9 : o

oy
ul

80+10=
50+10=
/0+10=
60 +10=
20+10=
10+10=
90+10=

110+ 10=

70+10=
40+10=
30+10=
80+10=
50+ 10 =

120+10=
100+ 10 =

58 |
EX
€0,

60+ 10 =
10+10=
20+10=

MINUTES SECONDS
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Name:

Date

RO AF 10> 11 =
°‘ 10x1 = 10x4=___
JEM 10x2= 10%x10=___
{E¥ 10x3= 10x8=__
é!ﬂ 10%x4= B oxo-  m
B 10x5= __

5 B 10x1=__ B
é 18::; : 10x3=______
1@ 10xs= 10x12=___
B 10x9=- | B 10x4=__ X
10x10= __ 10x9=__
B 10x11=__ | E® 10x8=___  EX
10x12= __ 0x7=
tinu¢::‘I I(';e:(e;= 10x11=_____
10x12=___ 1072 ——
B 10x8= EF 10x1=___ = HE&
10x12=: 10x12=__
10x10=__ 10x2=__
10%x9=__ 10x5=__
B 10x11=__  E¥ 10x4=____ EIX
Edy 10x3=__  HE¥ 10x6=___ K&

Grown-ups:

questions?

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston.

Can learners spot links
between neighbouring

MULTIPLICATION 1

Practise 10s
10x9 =

10x5=
10x3=
10x2=
10x12=
10x10=
10x11 =
10x1=
10x5=
10x7=
10x8=
10x11=
10x10=
10x6=
10x9=
10x4=
10%x3=
10x6=
10%x9=
10x11 =

&



Name:
Date
9 10x1= 1x10=
/BN 10x2= 2x10=
Z 10%x3= 3x10=
%!ﬂ 10x4= B 4x10= =
S| 10x5= 5x10=
2
B 10x6-= 6x10=
3
gﬂl 10%x7= B}y 7x10=
B 10x8-= 8x10 =
EX 10x9-= 9x10=
10x 10 = 10x 10 =
K 10x11= EY 11x10= 51 ]
P 10x12= A 12x10= 52 ]
Continue here... 7% 10 =
EH 4x10=

34, = 4.
10x 1= EA 8x10
& % 10 = 10x9=
1OX6: 11X10=
Bl 6x10-= EZ 10x12=___ =&
10x5= 1OX11=—
2x10= 10%x2=___
10x 4 = 1x10= (60,

Grown-ups:

questions?

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston.

Can learners spot links
between neighbouring

MULTIPLICATION 2

Practise 10s
3x10=

10x5=
8x10=
10x7=
10x8=
12x10=
10x4=
2x10=
10%x1=
5x10=
11x10=
1x10=
12x10=
/x10=
9%x10=
6x10=
5x10=
10x10=
3x10=
10x3=

&



tuck

Complete first and then use it to help you if you get s

Name:
Date:
10x__
KN 10 x =10 | B 10 x
BN 10 x =20 | BB¥ 10 x
E¥ 10 =30 | gy 10
N 10 x =40 B 10 x
B 10 x =50
B 10 60 # 10>
X =
KA 10 x 70 | B 10
B 10~ -go | B 10
B 10 x =90 | B 10
M 10x =100 | E¥ 10 x
¥ 10 x =110 | EF 10 x
1OX =120 'IOX
Continue here... 10 x
EEY 10 x = 40 |
¥ 10 x _qq EH10x
B 10 x 100 =10
10 x —g9 EF10x
B 10 x - 120 E# 10x
E 10 x =110 E&F 10x
EEY 10 x =80 E&¥ 10x
B 10 x =70 E& 10 x

Q{Z—SCORE: \

MISSING NUMBER 1

Practise 10s
=50 HEE10x____ =20
=20 B 10x___ =30
=60 E¥10x___ =10
=120 EF 10x______ =50
=100 EF 10x_____ =70
=90 EF10x___ =40
=110 E# 10x______ =80
=70 Y 10x____ =120
=40 EEY 10x___ =100
=30 E¥ 10x___ =90
=10 EF 10x___ =60
=110 B¥10x____ =30
=80 EBY 10x____ =110
=50 EF10x_____ =10
=10 BEF10x_____ =20
=40 EF10x_____ =70
=60 B 10x____ =50
=70 EF10x_____ =80
=90 EF10x__ =90
=120 [EX 10x =100

Grown-ups:

Can learners spot links
between neighbouring
questions?

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston. 5



Name: MISSING NUMBER 2
Date: Practise 10s
fROCKBOX A4x______ =40
KW 10 x =10 1x 10 10 x _ 50
2| N 10 x =20 2 20 10 x _ 80
me =30 KB 3x 30 19 % 190
3| A 10 x =40 A 4x 40
< 6 X :60
< ¥ 10 x =50 5 x 50
s 7 x =70
E| W 10 x = 60 6 X 60
2 10x =70 7% 70 10%———=20
0 10 x - 80 8 x 80 Mx____ =110
2 10 x =90 9 x 90 10x_____ =100
B 10 x =100 E& 10 x =100 10 x =10
B¥ 10 x =110 E&¥ 11 x =110 10 x =120
EE¥ 10 x =120 P¥ 12x =120 B¥ 10 x =30
Continue here... 10 x — 40
10 x =90 1 x =10 -
9 x - 90 11 =110 10x_—_=50
10 - 60 9 x - 90 10x______=100
7 x -70 E& 10x =120 2x__ =20
8 x =80 E# 10 x =70 8x___ =80
E¥ 10 x =110 5 x =50 Tx___ =10
12 x =120 10 x =60 9x =90
B 10 x =10 3 x =30 [ 12x =120
Grown-ups:

Can learners spot links
between neighbouring
questions?

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston. 6



tuck.

ame: DIVISION 1

Complete first and then use it to help you if you get s

Date: Practise 10s
RS 2 110+10=__ 90+10=__
10+10= 90+10=___ 80+10=__
20+10= 50+10=_ 20+10=__
30+10= 40+10=__ 60+10=_
40102 —— 30+10=_ 70+10= __
50+10= ___

@ c0:10- 60+10=___ 60+10=__
0s10= BA 120+10=______ 50+10=__
B 20-10= 80+10=___ 80+10=__
B 90+10= 40+10=___ 20+10=__
M 100+10=___ | E¥100+10=___ 10+10=___
¥ 110+10=____ | B 110+10=______ 40+10=___
Y 120+10=______ 90+10=__ 90+10=
“;‘;;*‘:_e':’a: 70+10=___ 30+10=
80:10= 10+10=___ 80+10=__
B 100= 10 = 50+10=___ B¥110+10= ___
60+10=: 80+10=_____ EF100+10=______
B 110:10=_  EBA120+10=__ EA120+10=__
10+10=___ 30+10=___ 70+10= ___
30+10=__ 10+10=____ 50+10=___
70+10= 60+ 10= ¥y 60+10=

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
7
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DIVISION 2

Practise 10s
80+8=

Name:
Date
10+10= 10+1= 60+ 6=
Z 2010~ 20+2= 50+ 10 =
§ 30+10= B 30-+3= 19012 -
{| B8 40+ 10~ BN 40+4= o 100+ 10—
S| BN 50+10= 50+ 5 =
4 M 60+ 10- 60 + 6 = 30+10=
@\ 70+ 10- 70+7= 70+10=
1@\ s0+10- 80+ 8= 10+1=
90+ 10 = 90+ 9= EE 110+ 10=
¥ 100+ 10 = B 100+ 10 = 40 + 4=
BN 110+ 10 = BFY 110+ 11 = 40+ 10 =
E&¥ 120+10= B 120+12= 80 =10 =
Continue here... 90+ 9=
50+ 5= 60+6=__
30+10=__ 50+10=_ 80+8=
50:10= 60-10=__E3100+10=
B 100+10=___ 0:9=__ 60+10=
30+3=__ BA110+11=___ 20+2=
10+10=___ 90+10=__ 30+3=
10+1=___ 40+10=__ 70+10=
20+10=____ 70+7=__  EX 50+5-=
rown-ups:

Qﬁg SCORE:

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston.

L

Can learners spot links
between neighbouring
questions?

&



Name:

% CHECK1 & ..

10x8=___ BN 10x8=__ 20+10=______
10%x2=__ 10x10=___ B 100+10=___
10x5=__ 10x12=___ 80+10=_____
10x4=___ 10x9=___ 10+10=______
10x3=__ 10x2=__ 50+10=______
B 10x6=_ 10x1=___ 90+10=_____
10x7=___ 10x5=__ 70+10=_____
B 10x10=__ 10x4=___ 10+10=_____
E§ 10x12=__ 10x3=___ EX100+10=__
10x1=___ 10x6=__ EW120+10=__
10x9=__ 30+10=___ 40+10=______
10%x2=__ 60+10=__ 60+10=____
10x11=___ 90+10=___ 50+10=______
10x7=__ 50+10=__ 30+10=______
10x9=___ BEX100+10=______ BE¥100+10=__
10x4=___ 10+10=____  E& 110+10=___
B 10x3=____ BF110+10=___ 90+10=_____
10x6=____ EF120+10=___ 10+10=______
B 10x1=__ 80+10=__ 20+10=______
EY  10x5=_ 40+10= EX 40-+10=

score: 760 [T ¥

(5 minute limit)

No)

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston.



Name: MULTIPLICATION 3
Date: Practise 10s
5x10=___ 8x10= 10x1=___
3x10=___ 1x10=____ 12x10=__
100x3=___ 2x10=___ 10x11=____
7x10=__ 100x4=__ 7x10=__
4x10=____ 6x10=____ 1x10=___
B 10x7=___ 10x9=__ 3x10=__
10x5=___ 12x10=______ 10x12=____
B 8x10=__ 1M0x11=___ 10x9=__
EX 10x9=__ 1x10=___ 6x10=__
Mx10=__ 10x10=__ 100x3=__
10x12=___ Mx10=___ 10x5=___
12x10=___ 5x10=___ 10x10=___
10x1=___ 3x10=___ 5x10=__
10%x10=____ 2x10=__ 10x8=__
/x10=___ 100x7=___ 2x10=___
10x6=___ 4x10=___ 4x10=___
100x3=___ 3x10=___ 10x7=___
10x1=___ 10x2=__ 10x9=___
10x4=__ 10x9=__ 8x10=___
100x8=___ 8x10=___ & 100x6=___
22474 SCORE: | i
questions?
10

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston.



Name: MISSING NUMBERS 3

Date: Practise 10s
KN 10 x =110 E¥ 10x =40 EF 10 x =10
BN 10 x =120 BE¥ 12x =120 EX 11 x =110
7 X =70 EEF 10 x =80 EEF 10x =80
N 10 x =50 7] X =70 O x =90
O x =90 5x =50 & 10 x =90
B 6x =60 6 X =60 ¥ 10 x =100
BN 10 x =60 B 10 x =20 B3 10 x =40
B 4x =40 1 x =10 2 X =20
EN 9x =90 EEY 10 x =100 T x =10
3 X =30 EW 10 x =110 E&¥ 10x =80
B¥ 10 x =20 9 x =90 6 X =60
1 x =10 4 x =40 4 x =40
EE¥ 10 x =10 EBE¥ 10x =30 E¥ 10x =50
3 10 x =100 EX 10x =100 E& 10x =70
BB 10 x =110 E&F 10x =30 O x =90
7 X =70 5x =50 EF 10 x =110
5x =50 EA 10 x =90 B 12 x =120
8 X =80 4 x =40 E¥ 10 x =120
EEY 10 x =40 EE¥ 10x =10 E&F 10x =30
B 10 x =70 6 X =60 EY¥ 9 x =90

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston. 11




Narme: DIVISION 3
Date: Practise 10s
70+7=____ 120+10=____ 80+10=___
70+10=___ 60+10=__ M0+10=___
30+3=___ NV+10=____ 0+7=____
20+2=__ 70+7=__ Mo+11=__
20+10=___ 30+10=__ B 110+10=___
B 40+4=__ 100+10=___ 10+1=____
100+10=___ 50+5=__  B#100+10=___
B 110+11=____ /0+10=____ NV+9=__
E¥ 110+10=___ 40+4=__ 80+8=__
70+10=___ 60+10=___ 40+10=___
50+5=__ 40+10=___ 40+4=__
120+12=___ 30+3=___ 60+10=___
120+10=____ 90+9=___ 30+10=___
80+10=____ 100+10=____ /0+10=___
110+10=___ 110+10=____ 30+3=__
50+10=____ 100+10=____ 120+10=___
60+6=___ 120+12=___ 60+10=__
30+10=___ 10+1=_____ 50+10=___
30+3=__ 10+10=____ 20+2=___
90+9= 80+8= BY 20+10=

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
12
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Name: MULTIPLICATION 4
Date: Practise 10s
10x12=____ 10x1=____ 3x10=__
10x11=___ 4x10=___ 2x10=___
8x10=____ 100x4=__ 100x8=__
10x9=___ 3x10=____ 4x10=__
/x10=____ 6x10=____ 2x10=____
B 5x10=__ 10x9=___ 10x1=____
100x6=____ 8x10=____ 10x11=____
B 4x10=___ 10x10=____ 100x12=_____
E¥ 10x3=__ 10x11=____ /x10=___
3x10=___ 6x10=__ 10x10=___
100x6=___ 100x6=___ 100x4=___
10x7=___ 10x9=__ O9x10=___
10x10=____ 10x3=__ 100x6=____
12x10=___ 10x5=__ 8x10=___
10x11=____ 8x10=____ 100x4=___
10x6=___ Mx10=___ 10x11=___
8§x10=____ 10x10=___ 3x10=__
3x10=___ 10x1=___ 10x10=___
10x2=__ 10x2=___ 6x10=__
1x10= 5x10= E¥ 10x9=

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
13
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Name:

Date:

BN 10x__
9%
8x
4x
B 10x______
M 10x__
6x__
B 10x___
E¥ 10x______
M 10x____
B 12x___
B 10x_____
Y 10x_____
Tx__
B 10x_____
M 10x_____

B 10 x
B 10 x

B 10x__
By 10x__
BA 10%x__
8x__
BY 10x__
EW 12x__
BN 10x__
2x_
ex__
E¥ 10x_____
B 10x__
E¥ 12x__
Ox__
EF 10x____

EEY 10 x

MISSING NUMBERS 4

Practise 10s
EN 10x___ =60
5x___ =50
B 10x____ =100
¥ 10x___ =10
O9x___ =90
¥ 10x___ =110
/x_____ =70
3x___ =30
2x___ =20
BEW 10x___ =40
5x =50
B 10x_ =60
B 10x_ =100
B¥ 12x =120
1x =10
B 10x =100
O9%x___ =90
BF 10x___ =40
BY 10x =70
Yy 7x__ =70

Grown-ups:

Can learners spot links
between neighbouring
questions?

© 2022-23 Maths Circle Ltd. Licensed to Windmill Hill Academy, Launceston. 14



ame: DIVISION 4

Date: Practise 10s
EN 120+10=_____ BN 100+10=___  EN 120+10=___
BN 110+10=___  B¥ 120+10=___ 10+1=______
1M0+1=___ B 110+11=____ 10+10=____
10+10=___ 70+10=___ 40+10=___
90+9=__ 70+7=___ 70+7=__
B 80+10=___ 40+10=___ 70+10=__
50+10=___ 50+10=___ 0+9=__
B o60+6=__ °0+10=_____ EF100+10=___
E¥y 70+7=___ 90+9=__  EX110+10=__
¥ 100+10=___ 80+10=___ 20+10=__
30+3=__ 60+10=__ BN 110+11=___
20+2=___ 40+4=___ 30+10=___
50+10=__ 10+10=__ B¥ 120+12=___
60+10=__ 50+5=__ 40+10=__
NV+10=___ 70+7=____ 70+10=____
40+10=____ 20+10=___ 60+-6=__
40+4=___ N0+9=__ 10+10=___
80+8=____ 30+10=____ 20+2=___
10+10=____  EBE¥110+11=_____  E¥ 100+10=___
E¥ 120+12=___ 60+ 6= By 10+1=

Grown-ups:
Can learners spot links
between neighbouring
questions?
15
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EEEEERERREEERRER

CHECK 2 &

10x9 =

10x 4=
10x12=
10x3=
10x6=
10x10=
10x12=
10x2=
10x1=
10x8=
10x4=
10x5=
10x7=
10x6=
10x10=
10x12=
10x1=
10x11=
10x9=
10x7=

21 ]
122 ]

N N N N N
. ! ! : ‘ O ‘ ; o o o= W

N
~

N
(00]

w w w
N = O

w
w

Name:

Date:

10x 3=

10x10=
10x2=
10x4=
10x8=
10x6=
10x12=
10x5=
10x1=
10x7=
90 +10=
50+10=
40+10=

e 100 +10=

e 110+10=

36

30+10=
60 +10=
70+10=
50+10=
80+10=

SCORE: | /60

(5 minute limit)

/

TIME TAKEN (optional)

47 ]
142 ]
43 ]

10+10=

0+10=
70+10=

110+10=

45 ]

20+10=

E3 100 +10 =

B 120+ 10=

10+10=
30+10=
80+10=
40+10=
70+10=
30+10=

110+ 10=

BE¥ 100+10=

€0,

50+10=
20+10=
70+10=
60+10=
10+10=

MINUTES SECONDS
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